FOOTING DETAIL

5589

PLAN VIEW
LU9a - GOAL POST FOOTING

~ SLEEVE CAP

1200
1000

CONCRETE FOOTING

GROUND SLEEVE

ELEVATION
LU9a - GOAL POST FOOTING

NOTE

ALL FOOTINGS TO BE:

N20 CONCRETE FOOTING
SUITABLE FOR CLASS 'S' & 'M'
SITES ONLY AS PER AS2870

A

»

N/

U
N

K

»

N

Y

78

N

78

W

Q

N

K

\\/

R

7.

x
R

YNNI

N

2N\
K

K

\

\/

Y/

K

N

R
\\\//\\\///\

K

»

N/

7.

Y
N/

K

»

N7

X

R

2N
2

Y/

K
>

a
, \\\// \\\//\/\/\/\/\/

DN

4
L

S

4
>

COMPONENTS

QTY ITEM

GOAL POST 89 OD

POST EXTENSION 76 OD

GROUND SLEEVE AND CAP

CROSS BAR

ADJUAAT 8040 ADJUSTABLE
ANGLE TEE(ONE HALF IS WELDED
TO CROSS BAR)

AN DI

M6 X 74 MM THREADED ROD

M6 POST HEAD SCREW

M10 X 50 MM CUPHEAD & NUT

NN AN

M10 X 85 MM CUPHEAD & NUT

e | U9a RUGBY GOAL POSTS
ASSEMBLY DETAIL 1 OF 2
FOOTING PLAN

DRAWING NUMBER:

LU9a RUGBY GOAL POSTS

Oz Ring Pty Ltd
Trading as:
Play Hard Sports Equipment
ABN 79 066 094 559
24 Ern Harley Drive
Burleigh Heads Qld 4220
Phone: (07) 5593 4494

Fax: (07) 5593 4338
Website: www.playhardsports.com.au
Email: email@playhardsports.com.au




	Sheets and Views
	ASSEMBLY DETAIL 1 OF 2


